
1. Encryption of data packet belongs to which principle?

a. Simplicity

b. Modularity

*c. Information Hiding

d. Abstraction

2. Divide PC users into two groups, so that they have own area to work 

with.

a. Layering

*b. Domain Seperation

c. Least Privilege

d. Process Isolation

3. You can open multiple Microsoft Word applications. Which principle 

it belongs to?

a.  Modularity

b. Domain Seperation

c. Least Privilege

*d. Process Isolation

4. Google's main page follows which pinciple?

*a. Simplicity

b. Modularity

c. Information Hiding

d. Abstraction

5. PC operating environment has a system domain and a user domain. 

Which principle it belongs to?

a.  Modularity

*b. Domain Seperation

c. Least Privilege

d. Process Isolation

6. You are given a regular user account at your school. you cannot 

install Operating system files and applications. Because you just need 

to use applications, and no need to manage applications and OS. Which 

principle it belongs to?

a.  Modularity

b. Domain Seperation

*c. Least Privilege

d. Process Isolation


